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General Instruction :

(f) All questions are compulsory.
(if) Use of calculator is not permitted.

frder 2 (31) W wEE 1 R 4 T Afdegsaid ¥ ¥ Y@ Wv W
1 &% fdifE ¥ .

Instruction : (A) Question Nos. 1 to 4 are very short answer type questions.
Each question carries 1 mark.

4 3 Yy z : e
-1 Al = T |
[x s | s » T x, y 3T z % HM T FC) _ 1
If 4 3 Yy z |
x 5171 s » then fing values of x, y and z.
s TNANNER 0.
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[2]
' ’ 3 aj" ’ T
W2 e weile {%J - H[E] %! Fife & U 7 ST [1]
&Y )’
Find the order and degree of differential equation [&:J =41t (Z{}
etnn“.r
-3 flﬂﬁcﬁcmnﬁmaﬂmt [1]
tan~! x
Find the value of f € dv .
14 x2
W4 W F =27 - 77 -3¢ w19 3@ Hifvg (1]
| Find the magnitude of vector d=2i-7 J=3k.
T : (W) AT S W 12 T T W ¥ | T4 9 R 2 st
FriRa &
Instruction : (B) Question Nos. 5 to 12 are short answer type questions.
Each question carries 2 marks,
245 5 :
-5 4 p_g;| FHF IR FAC " [1+1=2)
_ 245 5
Find the value of .
2-—-5i
WI-6  wad cos(]agcx+ex) 1 x ¥ WY e Fifwg) [1+1=2]
Differentiate ¢og (Iog X+ e‘“) with respect to x.
. http://www.cgboardon] ine.com
e f I1—sinx & |
os? ¢ & M T [1+1=2]
1—sinx
Find the value of f 7.
cos x
-8 b _ :
= HIFH Tefiwog dlr—s‘::lc.wr(sem.+fau.lt) ﬁﬁﬁﬁq] [I+l=2]
. : . dy
| So?ve the differential cquation = = secx(sec y - tan ).
ic+ T
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- 1] 1y -
H-9 =z tanl=|+tan”! 21, a1 k1 HF T Sie
- IS @&an [21 ~ tan [TI _ k&l HIT EN S

Find the value of £, if

~if 13 { -
- 1[_J+m-s|1 _=
2 !._l: 4

TFF-10 = f{x):{Kr+1 > X2

- cr
cosx . x>a'¥ 7 WEHWE, T KT U IR

Edied
If f(x)= booxss is continuous at x = i, then find the
COSX , x>T >
value of K
»
3 x_ Y _zZ . x=5 yp-2 z-3
m—‘l — T — T — — — -
=11 ""'fmig ;-1 W™ . T ¥ F @ ww ww
Sl |
x y =z x—=5 yv=2 z=3
Find the angle between lines ===—== and = =
2 2 1 4 1 8

W-12 s Sl EE H U UG EiE il €, Mdeal 34 Siier 19 98 7 o 39l
TAEIIRTR]

Find the probability that a card drawn from the pack of cards, is
neither an ace nor a king.

fgsr : (H) ¥e Ha% 13 ¥ 23 95 Susudd 39 ¢ T w17,
T % 18 T W9 FoiF 22 § JRE 99 ¢ 1 TS
T T 4 3 TG §)

Instruction : (C) Question Nos. 13 to 23 are long answer'type questions.
Q. No. 17, Q. No. 18 and Q. No. 22 have internal choicey
Each question carries 4 marks.

Prove that : [E-—E b—-¢ c-g]=0

MAI_TRACT S
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[1+1=]
[1+1=2]
[1+1=2]

[1+1=2]
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Mohan speaks truth in 75% of cases and Sohan speaks teath in 80%
of cases. Find out the probability of that incident, when Mohan 18
truthful and Sohan speaks lie.

(x+4) 2x 2x
av-15  Tg =i . 2x  (x+4) 2x | =(x+4)E-x)F ey
2x 2x (x+4) '

(x+4) 2x 2x
Prove that : 2x  (x+4) 2x | =(x+HE-x)F
2x 2x ¥ (x+4)

UST-16 6 THR H1 T & W 2/ —2] +£ ¥ v = w201 ¥ o e ww

FIG [ +2/+34 ¥ 50 +3/+7F T e ot isa g
T ™ = 3@ s [2+2=4]
" The force of 6 units works parallel to the vector 27 —27 + £ and
~;displaces one particle from [ +2]+3k to 5 +37+7£. Find ot

e work-done by force.

. ﬁq-rz - wwmmmﬂﬂﬁ.%rmm%%&maﬁm’
E S gl

The perimeter of a rectangle is 100 cm. Find the sides of rectancle
for maximum area. )

242=4]

HIFT/OR

T L, FRER A, 1) ¥ gt =t wiemw i S

FiIld thc E:qtlaﬁﬂn Gftangen—t at th.e P{}i']t (1‘ 1) t‘D th.e curve xzri_‘; + 'Vzﬂ} - 2 )
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4 o .
grs R S0=2E 1wl g feg A =l
fof(x)=x ¥ f o AR Fem 541 8 ? [2+2=4]
dx+3
1f f(x)=6ii4s XI%, prove that fof(x) = x for x;r:%.

What is the inverse function of f;

a1/ OR

'ﬂﬁf:RaRH%Hg:Rﬂ;R el %A flx) = cos x, g(x)ZBxZEﬂT
ofonfid €, @ gof W fo g T ST | fag BT FR gof # fog
Iff: R — R and g: R — R arc defined by f{x) = cos x, g(x) = 3x2
respectively, then find gofand fo g. Prove that gof # fog

TyA-19  FEHA GHIS (l+x2)%+21y:cosx i T FHINT [2+2=4]

Solve the differential equation :

(1+x2)—dl+2w:cosx

dx

wo-20 T & ¥ 50 Fiew qU1 150 72 ¥ | Y e q° Y AT W § 1 9
A U H AR A e I, A T S A g A e B R
wifgerar @@ &gt http://www.cgboardonline.com [2+2=4]
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50 bolts and 150 nuts are in a bag. Half of bolts and half of nuts
are rusted. If one is taken out randomly from the bag, then find out

probability of it being rusted or bolt.

wR-21  fag Fite fe W fx), AfQ ' [2+2=4]
m x=( e 3
f(x)-_— X ’ , _\:=0'qzmti|
1, x=0
L{l x=0 . s : -
i f()=1 x’ , prove that function f{x) is discontinuous at x =0;;
1, x=0
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el = %1 A F1d FIT : 249w
wyt-22  4fg Sin[sin“'%-l-cos }.T]ﬂljﬁax [ 24]

1, then find the value of x.

It sin [s;in“1 é +cos™! .\']

3rerg’/ OR

1
i HIAY, : sin{%-—sin"] [--2-] }

)

dx
- 1 /A ST |
=23 f3x2+13x—10 i

dx
3x% 4-13x =10

1

I
Evaluate : sm[g—sm

[2+2=4]

Find the value of f

Sefraira A ¥ | e i 25
v W 6 3ie Fuif@ &

tvpe questions.

freor . (R) o9% HaE 24 W 29 qF ;
20§ ol famed ¥ 1 TS
9 arc long answer

st 2 . )
Question Nos. 24 (0 ave internal option. Each

Q. No. 25 and Q. No. 29 h
question carries 6 marks.

Instruction : (D)

_.—l—._'_'___—-_. -
uyT-24 ﬁméli'ﬁl‘li ;Ll-}-\jtan.t 1

Prove that : 6 1+ +/tanx

i1

25 Qaw x2 =8y 3 y? = 8¢ ¥ e TR & 1 drher werhen faf @ 5
wg- =

Hifaw)

Find the arca of the field cncloszd between two curves x? = 8y and
2 = g¢ with the integral method.

3
R ____.__'/

[3+376)

http://www.cgboardonline.com

WO dulfuopieoqso mmm//dyuy



WO Ul UOPIROq30 mmmr//:dny

 q¥-26

wgi-27

Wy1-28

ayi-29

http://www.cgboardonline.com

[7]
37eaT/OR

T 1%+ y* = a? B S e fafly A T T

Find the area of the circle x2 + 12 = g2 by the integral method.

aerd g T e o wen 5 v S0 Fe sl % st

x+y<50, 3x+y<90 R x>0, y=>0

Z=4x +y 1 AYHaq 9F T HifoT | [3+3=6]

Find the maximum value of Z = 4x + y by graphical method of

solving linear programming problems under the following constraints :

x+y <50, 3x+y <90 and x>0, y=>0

1 3 3
oo A=|1 4 3| o IW St [3+3=6]
1 3 4
13 3
Find inverse of matrix A= 1 4 3
1 3 4
dy 2—logx " (3436]

-q-ﬁ‘r x-}’:gx._y '@,?ﬁ%aﬁﬁm ?5:'(1___@

_ 2-loeX
If x¥ =&, prove that s (l—logJC)l

W@Wgwwmwmmﬁm

RN A ﬂaﬁ%l h the origin and is
i : ation of the plane passiDg thmug% s
Find the equ g 4y +2=5.

perpendicular (o the planes x +2y—2

3rergr/OR
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Find the shortest distance between thne lines
Fe=(i+2f+3k)+2(2 37 +4%)

and Fe=(2i+47+5k)+5(37 ~47+5k)-

e oseaerss
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